dan                                                          Z axis

                                                                χzz = -85 x 10 -6                                 

                                          χyy  

          χxx                                                  Y axis                                                                                               
                                 X axis

            -85 – (-35)  = - 50 x 10 –6 =Anisotropy

  The above experimentally measured Susceptibility Tensor can be decomposed and fragmented into 24 group/bond/atom/ring current/ tensors which when added up tensorially result in the experimental molecular values.

     http://saravamudhan.tripod.com/shield_demag_susceptibility/id2.html
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